Physics 102

Formula Sheet FA2014
Kinematics and mechanics:
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Electromagnetic induction:
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Electromagnetic waves:
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Reflection and refraction:
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Compound microscope: My = % M. = df“eaf Mg = Mg,eMy;
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Interference and diffraction:
Double slit interference: dsind=mi dsinez(m+%)/1 m=0,£1,+2
Single-slit diffraction: asin® = ml m=+1+2...
Circular aperture: asind =1.22,
Quantum mechanics:
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Nuclear physics and radioactive decay:
A=Z+N r~(1.2x10°m)AY3 E, =mc?
E.
mnucleus = Zmproton + Nmneutron - | blznd |
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Constants and unit conversions:

g =9.8m/s’ e=1.60x10"C
£, =8.85x107* C*/Nm’ k= ! =8.99x10° Nm?/C?
e,
c= ! =3x10% m/s h=6.626x10"J-s
Eoldy
leV =1.60x10"J
Myroon =1.673x107" kg = 938.3MeV/c?
S| Prefixes
Power Prefix Symbol
10°  giga G
10°  mega M
103 kilo k
10° — —
102 milli m
10°  micro u
10°  nano n
102 pico p

U, =4 x107 T-m/A

hc =1240eV-nm

=9.11x10"* kg =511 keV/c?
=1.675x10"% kg = 939.5 MeV/c?



